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pirsctions far the following 8 (eight) items :

- follgwing seven passages and anwswer
follow 1he PpARBIECR. Yaour
guld be based on the

poarl ik
the item® that .
qruwers 1o these j1lems uh
pansafes only.

passage—1

fisrupt nal institutions, idm:ltiﬁca-
ions and loyaltics i likely to lead to ambivalent
gituations. 11 18 possible that some people may
renew  their identification with traditional
groups whereas others align themselves with
new Eroups and symbols emergent from

ocesses of political development. In addition,
political development tends to foster group
awareness of a variety of class, tribe, region,
clan, language, religion, occupation and others.

ion of traditio

1. Which one of the following ia the b_.gn_t
explanation of the above passage?

{] Political development is not a
unilinear process for it involves
bath growth and decay.

(b) Traditional societies succeed in
resisting  positive  aspects of
political development.

f¢) It is impossible for traditional
societies to break away from
lingering loyalties.

(d) Sustenance of traditional loyalties
is conducive to political
development.

Passage—2

There has been a significant trend worldwide
towards regionalism in government, resulting
in a widespread transfer of powers downwards
towards regions and communities since 1990s.
This process, which involves the creation of new
political entities and bodies at a sub-national
level and an increase in their content and

AMC-D-CLYS/71D

i 2
:::ﬂ. r:;]::rnt;@n - dﬂ"-ff:!lunrm, Dievolution has
rw"mwrliﬁrnﬁtd po being made up of thees
authority anr,l-a j""-"{.“h‘nar.;f' Arcantralization of
Political legit; decentralization of resources.
from b-lr.::f i;nagy here means a mass demnand

hich is or the decentralization process,
;kl: ;; able to create a political foree for it 10
take place. In many cases, decentralization i®
mlltlah:d by the upper tier of government
without sufficient political mobilization for it 2t
the grassroots level, and in such cases the

decentralization process often does not fulfil its
objectives,

2. Which among the following is the most
logical, rational and critical
inference that can be made from the
above passage?

(a) Emergence of powerful mass leaders
is essential to create sub-national
political entities and thus ensure
successful devolution and
decentiralization.

(b) The upper tier of government
should impose devolution and
decentralization on the regional
communities by law or otherwise.

ff Devolution, to be successful,
requires a democracy In which
there is free expression of the will
of the people at lower level and
their active participation at the
graseroots level

{d) For devolution to take place, a
strong feeling of regionalism in the
masses is essential.

Passage—3

We live in digital times. The digital is not just
something we use stratégically and specifically
to do a few tasks. Our very perception of who
we are, how we connect to the world around us,
and the ways in which we define our domains of

[P.T.O.



lifer, Inbonie el dnggomgee oee hiapely siraciuroed
by the digital teehnologlen,  The dpplinl in
':""""."”"1"“”?" il lilee “il‘. invini e, Wi e
within elgitnl sywteis, we lve with Inthimale
prelpeln, we interae tvough digitnl meding md
the very presence and imagination of the digital
how evamntically restrueiured our lives, The
digital, far from being i tool, in 0 condiion and
context that delinen (e shinpes and boundaries
of our viderstonding of 1y nell,

e nociely,
angl the structure of Fove

P,

3. Which  among e lellowing o e

mast logical and essontial message
canveyed by the above pansnge?

fer) A problemas of povernance cnn be
solved by using digital teelinologics.

M Speaking of digital technolopics s
speaking of our life and living.

fe} Our  creativity and imagination

cannot be expressed without digital
medin,

d) Use of digital systems is imperative
for the existence of mankind in
future,

Passape—34

The IMF has pointed out thal the fast growing
eponomies of Asia face the risk of falling into
‘middle-income trap’. It means that average
incomes in these countries, which till now have
been growing rapidly, will step growing beyond
a peint—a point that is well short of incomes
in the developed West, The IMF identifies a
number of causcs of middle-income Lrap—nane
of which is surprising—from infrastructure te

AMC-D-CLYS/71D

wenk institutiond, lo less than t'mm';Jrnh:j.

: - ‘ :

microceonomic conditions. But the .:m h_
. . e .

avernll caunse, Bays IMIF, is a collapse in 1

prowth of productivity.

|

4, Which among the following is the most
logical ratlonal and  critical
inference thal can be made from the

above pa HHH'HU?

m( Onece a country reaches middle-
income stape, it runs the risk of
falling productivity which lcads to
slagnant incomes. -

(4} Falling into middle-income  trap
js a general characteristic of flast
growing cconomics. ©

fe} There is no hope at all for emerging
Aslan ecconomies to sustain the
growth momentum,

fd} As repards growth of productivity,
the perfermance of Asian
economies is not satisfactory.

Passage—5

An innovative India will be inclusive as

well as technologically advanced, improving
the lives of all Indians. Innovation and R&D
can mifigatc increases in  social inequality
and relicve the pressures created by rapid

urbanization. The gErowing divergence in
productivity  between  agriculture and

knowledge-intensive manufacturing and services
threatens to increase income inequality By
encouraging India’s R&D labs ang universitieg

to focus on the needs of poor
. people and b
improving the ability of informal firms to absg ri

[ B.T.O.



knowledge, an innovation and research agenda
can counter this effect. Inclusive innovation can
lower the costs of goods and services and create
income-earning opportunities for the poor
people.

5. Which among the following is the most
logical and rational assumption that
can be made from the above passage?

fa) Innovation and R&D is the only
way to reduce rural to urban
migretion.

fb) Every rapidly growing country
needs to minimize the divergence
between productivity in agriculture
and other sectors.

|‘|( Inclusive innovation and R&D can
help create an egalitarian society.

(d} Rapid urbanization takes place
only when a country’s economic
growth is rapid.

Passage—b

Climate change is likely fo exposc & large
number of people to increasing environmental
risks forcing them to migrate. The international
community is yet to recognize this new category
of migrants. There is no consensus on 1.-_he
definition and status of climate refugees owing
to the distinct meaning the term rcfug_n:s ca,n.ﬂ_f
under international laws. Tﬁ_c;c__achgglgggw
understanding how climate change will work as

the root cause of migration, Even if there is

recognition of climate refugees, Wh.ﬂ is going to
provide protection? More emphasis has1b¢cn
given to intematinna]'migmtiun due to climate

AMC-D-CLYS/71D

change. Bul there is a need to recognize the
migration of such peeple within the countries
also so that their problems can be addressed
properly.

6. Which of the following iz the most
rational inference from the above
passage?

fa} The world will not be able to cope
with large-scale
climate refugees.

migration of

fB] We must find the ways and means
to stop further climate change.

fe) Climate change will be the most
important reason for the migration
of people in the future.

fdj’ Relation between climate change
and migration is not yet properly
understood.

Passage—7T

Many farmers use synthetic pesticides to kill
infesting insects. The consumption of pesticides
in some of the developed countries is touching
3000 grams/hectare. Unfortunately, there are
reports that these compounds possess inherent
toxicities that endanger the health of the farm
operalors, consumers and the environment.
Synthetic pesticides are generally persistent in
environment. Entering in food chain they
destroy the microbial diversity and cause
ecological imbalance. Their indiseriminate use
has resulted in development of resistance
among insects to insecticides, upsetting of
balance in nature and resurgence of treated
populations. Natural pest control using the
botanical pesticides is safer to the user and the
environment because they break down inta
harmless compounds within hours or days in
the presence of sunlight. Plants with pesticidal
properties have been in nature for millions of
years without any ill or adverse effects on the
ecosystem. They are easily decomposed by

[ B.T.O.



many microbes common in most soils. They
help in the maintenance of binlﬂgmﬁl'l dwcrs‘J[}I'
of predators and the reduction of environtnenta
contamination and human health hazards.
potanical pesticides formulated from plants flrc
biodegradable and their use in crop protection
ig a practical suslainable allernative.

7. On the basis of the above passage, the
following assumptions have been made :

1. Synthetic pesticides should never
be used in modern agriculture,

2. One of the aims of sustainable
agriculture is to ensure minimal
ecological imbalance,

3. Botamical pesticides are more
effective as compared to synthetic
pesticides,

Which of the assumptions given above

is/are correct?

fa) 1 and 2 only

fif 2 only

fe} 1 and 3 only
{d 1,2 and 3

8. Which of the following statements isfare
correct regarding biopesticides?
1. They are not hazardous to human
health.
2. They are persistent in environment.
3. They are essential to maintain the
biodiversity of any ecosystem.

Select the correct anNswer using the code

given below.

ﬂf 1 only

(5) 1 and 2 only
fe) 1 and 3 only
id 1,2 and 3

AMC-D-CLYS/71D

9. Certain 3-digit

. numbers have th
following characteristics - )

1. All the three digits are different.
2. The number is divisible by 7.

3. The number on reversing the digits
is also divisible by 7.

How many such 3-digit numbers are
there?

@) 2
af 4
fe) 6

(d) 8

10. Examine the following statements :

1. All colours are pleasant.

2, Some colours are pleasant.

3. No celour is pleasant.

4, Some colours are not pleasant. -

Given that statement 4 is true, what can
be definitely concluded?

fa} 1 and 2 are true.
) 3 is true.
fe} 2 is false,

ad 1 is falsc,

. FL.?TO




numbers are there between

many —
11. 'g’: and 1000 such that the digit 8
) : Wi
accupics (he units Place? 53,
ﬂrir" ﬁ;br-,
-]
rﬂ;' 64 ‘I.bq-l ‘P
\"*E,
(b 80 ‘L'qk'-‘-'a-l‘:r
W8
\-{’Lq,
ap v
ﬁ \\'5:‘—'
\"bt-
(d) 104 s

12. If for a sample data
Mean < Median < Mode

then the distribution is

{a) symmetric
(b} skewed to the right

(¢) neither symmetric nor skewed

M skewed to the left

13. The age of Mr. X last year was the square
of a number and it would be the cube of

a numbear next year. What is the least
number of years he must wait for his
age to become the cube of a number
again?

A
\
42 S o
dai” B "
O W
w38 .
25 .ﬁ}ﬁ
(e} ‘}u"*
Ay,
(d) 16 e
@

MC-D-CLYS/71D

14. P works thrice

2 fa
Pand Qtq st ag
fast as R Ee? Er::;' Work E:ll.l"r ;’:1::&5
. . , Rig as
a job, mn what ratj, " her wory
the carnings? Uld they ghap,
T (S
jpf 25 5 1 )
(b} 3:2:4
fe) 4:3:4
(d 3:1:4

15. Consider the following relationships

among members of a family of six
persons A, B, C, D, E and F:

1. The number of males equals that of

females.
¢
2. A and E are sons of F. W o
v K% G
3. Dis the mother of two, one boy and {~
one girl. ® &
1"

4. R is the son of A

5. There is only one married couple in
the family at present.

Which one of the following inferences
can be drawn from the above?

iy fa) A, B and ['.:'i-zl.l't‘.'£|.'Ll’fl:n’lnll.:ﬂ:.".'|L
ks
“
3 'ﬂ{ A is the husband ofD.
¢/ E and F are children of D. £
(d Dis the daughter of . ¢
FP.T.O.
11 LY



6. A bag contains 20 ba

1 green, 7 are white and]:;lari rzil“ivim
is the minimum number of balia thElt
must be picked up from the b&t
blindfelded (without replacing any of ?f
to be assured of picking at leait I
ball of each colour? .

(@ 17 @ﬁ.’*"

W
gt "
@ 13
@ 11

17. 1f 2 boys and 2 girls are to be arranged
in a row so that the girls are not next
to each other, how many possible

arrangements are there? 2

o ? "0
fa) 3 . 3

©

2
B 6 % LIS

\’9— J}'@‘ e
M 12 R

8% .

(d) 24 L

gfa4cmx4cmx4cm

completely in red. It is

the faces to yield
gmall

18. The outer gurface

iced H_Tﬂﬂﬂl to
gliced D 1¢-m>:lﬂmxl‘:m

:i:t?;s.f?-lf;v many small cubes do not
have painted faces? -

Ilf 8 jﬁ":’

(b) 16 : @’a

(c) 24

(d) 36

AMC-D-CLYS/7 1D

19. Consider the following :

A, B, C D E F G and H are
standing in a row facing North.

B is not neighbour of G.

Fis to the immediate right of G and
neighbour of E.

& is not at the extreme end.

A is sixth the left of E. no
is 8 10 e leit o B~ c %7 ’
H is sixth to the right of C.v ' "-_ :

Which one of the following is correct in
respect of the above?

(a) Cis to the immediate left of A.

(b) D is immediate neighbour of
B and F.

,M/G is to the immediate right of D. -

(d) A and E are at the extreme ends.™

20. In a certain cade, 256’ means ‘red colour
chalk’, ‘589° means ‘green colour flower"
and 254' means ‘white colour chalk’.
The digit in the code that indicates

twhite’ is WL L fll'-
- LR A
| ~ g O
£ ] "
fﬁj . AT I*“\-u_ 4
g
fe) 5
d) 8
[ P.T.O.



pirections for th“ following 7 (seven) items :
Read the following seven passages and answer
the items that .fu]lnw the passages. Your
answers to these items should be based on the
passages only.

Passage—1

an air guality index [AQI) is a way to combine
measurements of multiple air pollutants into a
single number or rating. This index is ideally
kept constantly updated and available in
dgifferent places. The AQI is most useful when
lots of pollution data are being gathered and
when pollution levels are normally, hut not
always, low. In such cases, if pollution levels
spike for a few days, the public can quickly
take preventive action (like staying indoors)
in response to an air quality warning.
Unfortunately, that i1s not urban India.
Pollution levels in many large Indian cities are
sa high that they remain well above any health
or regulatory standard for large part of the year.
If our index stays in the Red/Dangerous’ region
day after day, there is not much any one can
do, other than getting used te ignoring it.

21, Which among the following is the most
logical and rational inference that
can be made from the above passage?

are nat

(aj Our governments
responsible enough to keep our

cities pollution free.

(b) There is absolutely no need for air

quality indices in our country.
M Air quali
" the reside
cities.

ty index is not helpful to
nts of many of our large

eiby, public awareness

(d) In every lems should

about pollution prob

increase.

AMC-D-CLYS/71D
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Passage—2

Productive jobs are vital for growth and & good
job is the best form of inclusion, More than half
of our population depends on agriculture, but
the experience of other countries suggests that
the number of people dependent on agriculture
will have to shrink if per capita incomes 1N
agriculture are to go up substantially. While
industry is creating jobs, too many such jobs
are low-productivity non-contractual jobs in the
unorganized sector, offering low incomes, little
protection, and no benefits. Service jobs are
relatively of high productivity, but employment
growth in services has been slow in recent

years.

22. Which among the following is the most
logical and rational inference that
can be made from the above passage?

. {a) We must create conditions for the
faster growth of highly productive
service jobs to ensure employment
growth and inclusion.

We must shift the farm workers to
the highly productive manﬂfacturing
and service sectors to ensure the
economic growth and inclusion,

fe We must create conditions for
the faster growth of productive
jobs outside of agriculture even
while improving the productivity of
agriculture,
fd} We must emphasize the cultivation
of high-yielding hybrid varieties
and genetically medified crops to
increase the per capita income in
agriculture.

[ B.T.O.



Passage- 3
land =
A scape-scale aPproach tp land use

1993, farms usin ; in
suffered 58 per gt “Coagricultural practices

leee L 70 per cent and
N' =21 damasc

farms using conventiona
Rica, vegetative windh
boosted farmers:
coffee while algq
pollination is mg
fields are close
habitat, a

99 per  cent

in Honduras,
pectively, than
techniques. In Costa
inm:.n::a];& and fencerows
) rom pasture and
Increasing hirdg divergity. Bee
e effective when agricultural
ﬁn:i.‘lnt: I::t';.:ll'al or seminatural
87 per cent of the worl-:’s lr?;um s
dgpend on animal pollinators. In Costa Rica,
Nicarapgua and Colombig silvopastoral aystcmsl
that integrate trees with pasturcland are
improving  the sustainability of cattle
production, and diversifying and increasing
farmers’ income.

leading crops

23. Which among the following is the moat
' logical and rational inference that
can be made from the above passage?

_.]( Agricultural practices that enhance
biodiversity can often increase farm
output and reduce the vulnerability

to disasters.

All the countries of the waorld
should be encouraged to replace
ecoagriculture with conventional

agriculture.

(b}

;culture should be pgﬂ?ﬁﬂed
Fﬂﬂ‘;ﬂed areas  without
zlstmying the hiodiversity there.

e

will be very
f food cTops ’
gril:ulturﬂ] practices are
Jtivate them.

(<}

Thg; }'iﬂld 0
high if ecoa
adnptcd to cu

(d)

1T

Passage—4

llenge
..y term cha
e’ to IMOVE from_ :
from lower 10 higher valur:r
ighe
ed sectors, and from lower 'fr::-‘:1 h;tg::es
hes tivity sectors. Medium tech indu e
mﬂdu:tnarﬂf capital intensive _ar.u:l reso -
o fssing and high tech industnes a:l-c m:rd;
L] - X n
i d technology mtﬁns-nfﬂ. !
::Piﬁh ‘:26 chare of manufactunng in mrz{-a]l
GDFI; to the projected 25 per ce?}:, ];110 1;;11
i ture the
manufactuning needs tq:_'a Ccap re :
market in sectors showmng a rising trcnii;:
demand. These sectors are largely ig

technology and capital intensive.

for Indian
to
The h lower
manufacturiﬂﬂ- e
higher tach sectors,

24, Which among the following is the most
logical and rational inference that
can be made from the above passage?

@) India’s GDF displays high value-
added and high productivity levels
in medium tech and respurce
processing industries,

(&) Promotion of capital and technology

intensive manufacturi i
g Tin 1=
possible in Indig, B hot

. research
Pment
UpPgradation and slki]] wtzlzhpr;?‘:i?

[P.T.0.



Passage—S5

the 1ast decade, Indian :
o morc_rubust with m;ﬁ:”::::irsczaa
of jpod  GrAINS and oilseeds, Incr on
; grements conlseql:temly_ hos gdded eased
L1ocks of food grains in the granarieg fl lzluglc
oric of ¢ world’s top producers of ri - India is
ilks fruits and vegetables. India ig Ct_, wheat,
0 & guarter of all undemourisheq atill home
the world. On an average, al ed pecople in
1 expendi » 8lmost half of

the 1ot& P iture of nearly h
pouseholds is on food. alf of the

25. Which among the following iz the most
logical corollary to the above passage?

'J Increasing the efficiency of farm-
to-fork value chain is necessary to
reduce the poverty and malnutri-

ticn.

{b) Increasing the agricultural
productivity will automatically
eliminate the poverty  and

malnutrition in India.

ag;riculmrﬂ] pmductl‘-’itj-’
and it is not
ge it further.

India's
is already great
necessary to incred

fc)

nds for social

tion of more fu s
Alloca’ pnvﬂ't}’ Alleviation

nd
:::::mr:es will ultimately
and
c]_ilﬂ‘i]'lﬂ.tf- 'povcrty
halnutrition in India.

(d)

AMC-D-CLYS/71P
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pul-ll""'ﬁ
and the Cent
iﬂtﬂ a necklﬂDC:

are scattered.

ig the
are like pearis e i the
.1, turns them

th'-‘r Peaﬂﬂ

tes the above

following Views
staternent?

re and strong States
ration strong

26. Which ©
corrobord

(a) A strong Cent
make the fede
g force

A strong Centre is a bindin

for national integrity.

fc) A strong Centre is a hindrance to

State autonomy.

(d) State autonomy is a prerequisite for

a federation.

Passage—7

Really I think that the poorest he that is in
England has a life to live, as the greatest he
and therefore truly, | think it is clear that eve :
man that_is to live under a government uugl?:
f;st by his own consent to put himself under
e gclrvemmmt. and I do think that the poo
man in England is not at all bound in E 1"3_’31
sense to that government that he has e
voice to put himself under, nothada

27. The above statement Brgues fo
r

{a) distribution of
wealth equall
Y to all

M/ rul ;
¢ according to the con

governed sent of the

fe) rale of the poor

(d) expropriation of the riop

[P.T.0.



28. The average rainfall in a city for the 29. Who is specializeq in Geography?
first four days was recorded to be
0:40 inch. The rainfall on the last two MB
days was in the ratio of 4:3. The
average of six days was 0-50 inch. What

was the rainfall on the fifth day? .t . () D
{a) 060 inch Y
u () E
B 070 inch o =l
b iy
% 0-80 inch % at " (d) Cannot be determined as data are
: Rt inadequate
(d) 090 inch :
vl :
0 Wi
7 ke
Directions for the following 3 (three) items : oo . .
Consider the given information and answer 30, To "'"h“’h city dﬂﬂﬂl the Lecturer
the thrae items that follow. specialized in Economics belong?
A B C D, E F and G are Lecturers from
different cities—Hyderabad, Delhi, Shillong, (a) Hyderabad
Kanpur, Chennai, Mumbai angd Srinagar (not
necessarily in the same order) who participated /ﬁ( Mumbai
in a conference. Each one of them ig
specialized in a different subject, viz. i
Economics, Cumn:f;:m:, History, ::‘falﬂgy: (6] Neither Hyderabad nor Mumbai
Geography, Mathematics and Stav.{:gca {not
necessarily in the same order). Further (d) Cannot be determined as data are
1. Lecturer from Kanpur is specialized o
in Geography
2. Lecturer D is from Shilleng
3. Lecturer C from Delhi is specialized 3l. Who of the following belongs to
in Sociclogy Hyderabad?
4. Lecturer B is specialized in neither
History nor Mathematics (a} B
5. Lecturer A who is specialized in
Economics does not belong to : _ﬂ(/ E
Hyderabad
6. Lecturer F who is specialized in (c) Neither B nor E
Commerce belongs to Srinagar
7. Lecturer G who is specialized in {d) Cannot be determined as data are
Statistics belongs to Chennai T inadequate
\ef \
K N !
pAiB) € T\f : S! _ﬁ-Emmu:ﬁ
AMC-D-cLys/7ip w [ }wl « e T 1 | - e arvie g rmo,
5 .
s =P | ¥ ™ = ® | = '
— \‘l 2 " .2 r‘p -
2 3 x -
& 1-:-\: ""_]l il e h z v ~ E
i'd:'ﬂr:' e 1% el v | 24 e
my A, e et ]
T e T G - eabis A
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re are five teachers A, B,

- ";:';;n:::hf;.h; and B teach Hindi and
E;'i,gl.iuh. ¢ and B teach English Elr_ld
Geography- D and A teach Mathematics

and Hindi. £ and B teach History and

French. Who teaches maximum number ceiling?
of aubjects? ol €
I H':: | \ ™ L T /
Y W \
;ﬂj A ! 1:,-"-"". 1l Lf;' Lr‘l. 4 , -y . ._E..
n W B
o B | Nl
) & '
- ‘.I""-
fe D ) ﬂ‘ A
@ E o 12 I
: . {d} 15
33. A 2-digit number 18 reversed. The larger
of the two numbers is divided by the
smaller one. What is the largest possible Directions for the following 3 (three) items :
remainder? Consider the given information and answer
@ 9 the three items that follow.
a
Eight railway stations 4, B, G, D, E, F, Gand H
fb) 2T are conmected either by two-way passages OF
one-way passages. One-way passages are
fe) 36 from Cto A, Eto G, Bto F, Dto H, Gto C, Eto €
mﬂHtoG.Two—waj.rpanngesmbmw:n
}(45 Aand E, Gand B, Fand D, and E and D.
36. While travelling from Cto H, which onc of
34, The monthly incomes of X and ¥ are in $¢ lf;l}i:;mg stations must be passed
the ratioc of 4:3 and their monthly -
expenses are in the ratio of 3:2
However, each saves ¥ 6,000 per month. - @) G
What is their total monthly income? & 5 7
?bﬁf’?ﬂ 1""}'
fa) F?S,ﬂ(}l} 19 < |_'69 %E
7% 42,000 i
’._'r i & {_
() ® 56,000 o B ﬂﬁfﬁ
i :_. . ?\{JL%
e 8
{d) Efﬂ-,ﬂﬂ(} @ F
’ r'.-.l |"-I b“
AMC-D-CLYS/T1D i
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38, Two walls and a ceiling of a room meet at
right angles at a point P. A fly is in the
air 1 m from one wall, 8 m from the
other wall and 9 m from the point P.
How many meters is the fly from the




ar, In how many different ways can a train
travel from F to A without passing
through any station more than once?

1

fa)

(b} 2

fe) 3

PA

38. If the route between G and C is closed,
which one of the following stations need
not be passed through while travelling
from H to C?

fa) E

@) D

P
(d B

AMC-D-CLYS/71D

39. There are certain 2-digit numbers. The
difference between the number and
the one obtained on reversing it is
always 27, How many such maximum
2-digit numbers are there?

fa) 3 R M
al-” o
"l{'--:.
(b) 4
e
¢) S Sy
J ..
E ,

/ﬂone of the above

40. What is the tfotal number of digits
printed, if a book containing 150 pages
is to be numbered from 1 to 1507

&

L "Lﬁi‘u-,:'
'\L'j ?
>
a :

o @
.}1\

(d) 450

as [P.T.O.



whrtHMT[ﬂmliHm:
#mﬂ“ﬂ“wﬂmﬂnnsnﬂ
e i that follow the passages. Your

mmthﬂmﬂbﬂbEhlacd on the

possng=2 0

Passage—]1

we have hard work ahead. There is no resting
for any of us till we redeem our pledge mn
ill we make all the people of India what
to be. We are citizens of a

destiny intends them
country, on the verge of bold advance, and
ndard. All

we have Lo live up to that high st
tever religion we mAay belong,

e children of India with
vileges and obligations. We

capnot CNCOUTAEE communalism or narrow-
i . for no nation can be great whose

peaple are Rarrow in thought or action.

41, The challenge the author of the above
to the public is 10

passage throws

achieve

fa) = high etandard of living, progress
and privileges

(b equal privileges, fulfilment of
destiny and political tolerance

fo spirit of adventure and €cONOmMic
panty

ﬂ/ hard work, brotherhood and
national unity

Passage—2

to Rousscau, puts

in cOMIMON under
ral Will and in

"The individual, according
his person and all his power
hw.ﬂjrecﬁunnfthr.&m

AMC-D-CLYS/TID

our corporate capacity we receive each member
as an indivisible part of the whale.”

43. In the light of the above passage
the mnature of General Wil s

best described as
{a) the sum total of the private wills of
the individuals

(b) what is articulated by the elected
representatifca of the individuals

the collective good as distinct from

private wills of the individuals

(d) the material interests of the
community
Passage—3

In a democratic State, where a high degree of
political maturity of the people obtains, the
conflict between the will of the sovercign law-
making body and the organized will of the

people seldom oCC urs.

oes the above passage imply?

force is the main
rcise

43. What d

fa) Ina democracy,
phenomenon in the actual exe

of soverscignty.
In a mature democracy, force to

a pgreat extent is the main
phenomenon in the actual exercise

of sovercignty.

(b)

ocracy, use of force

{e) In amature dem
actual exercise

is irrelevant in the
of sovereignty.
M{In a mature democracy, force is
narrowed down (o & marginal
phenomenon in the actual exercise

of sovereignty.

| B.T.O.



Pansige o

successh

despread ulinter:m“f-‘me}r i
polilics, in whiel, St. and pmf*m-‘dﬂ upon
To deliberately vn?’“g is an ‘E‘Pﬂ?ion in
interest, and j,m"'-'-‘fraln from ©S8ential pary.
anarchy; it ;Em ::Jtmgf is a 1 t:igo?'f':h an

= Enjov:
free political society Moying the benefits of
- a

44, This Passage relateg to

duty top vote
be I'ight to vote
(c) freedom to vote

dl =
fd) right to Participate in politics

Passage—5

In a free country, th
R » € man who reach
position of leader is usually one of nutat::d:z;

character and ability, it i

possible to foresee 31&?;?::?,1-;;; ];ﬂu?w
position, since early in life one can aeu:: hiz
qualitics of character. But this is not always
true in the case of a dictator; often he reaches
his poesition of power through chance, very often
through the unhappy state of his country.

45, The passage seems to suggest that
(a) aleader foresces his future position

(b) a leader is chosen only by a free
country

fc) a leader must see that his country
is free from despair

Y( despair in a country sometimes
leads to dictatorship

Passage—0

The greatest blessing that technological
Vogress has in store for mankind is mot,
 course, an accumulation of material

WMe-pcrys /71D

29

p.g_qg.;ugiuns. The amount of thess that can e
alfectively enjoyed by one Individduanl in one
lifetime is not greab. Put there ia not the aame
narrow  limit  to the possibilitien ol the
anjoyment af leisure. The pift of lcisure moy e

have had no cxperienee
vet the creative use ol
in societics has been the
Dropress beyond the

abused by people who
of making usc of it,
Jeisure by a minority
mainspring of all human
primitive level.

the above passage, the
have been made :

46. With reference (0
following & gsumptions

1. People always 5ec the leisure time
as a gift and use it for acquiring
more malerial posscssions.

2. Use of leisure by some people 10

produce new and original things
has been the chief spurce of human
progress.
Which of these assumptions isfare
valid?

fa) 1 only

Mﬂ only

() Both 1 and 2

{d) Heither 1 nor 2

Passage—T

There is more than a modicum of truth in
the assertion that “a working knowledge of
ancient history is necessary to the intelligent
interpretation of current events”. But the sage
who uttered these words of wisdom might well
have added something on the benefits of
studying particularly the famous battles of
history for the lessons they contain for those of
us who lead or aspire to leadership. Such a
study will reveal certain qualities and attributes
which enabled the winners to win—and certain

| P.T.O.



deficiencies which caused the losers to loge,

and the student will see thatl the same patterp B.m " group i

recurs ~ consistently, ~ again end  again, ' ::ur tenniy lem :o:m' vy :::
s e s B e, o o
47. With reference to the above passage, the Vimajg 04 three bank employces.

following assumptions have been made - m el e
1. A study of the famous battlea of rad
history would help us undcram D Gonde piayers Amslts
the modern warfare. Kamla, T =
are b‘ntllt.te 8 in Sociology of whom twe
cmployees. If Shyamala is @

2. Studying the history is essential

Postgraduate
i be a leade A m Commerce, who among
anyone who aspires to a :hﬁ £ is both a tennis player and )
Which of these assumptions iﬁf_ tk employee? v M
valid? gis Y .

. fa) Amala N V: LoV
(g} 1 only Ve ) ’ *.
& ®) Komala R
i Mﬂ only \ . ¥

/ﬂy Nirmala =
o) Both 1 and 2
(d) Shyamala
fd) Neither 1 nor 2 h""‘ b
40 ‘ | &
B0. P=(40% uh?h (65% nf%’) and Q= (50%
48. Suppose the average weight of 9 persons of ﬁl;ﬁﬂ‘% of B), where A is greater
is 50 kg. The average weight of the first _

5 persons is 45 kg, whereas the average

In this context, which of the following
weight of the last 5 persons is 55 kg.

statements is correct?

Then the weight of the 5th person 1o
will be ?ﬁﬁ : 145,
qu a) Pis greater than Q. L
@ 45 kg ¥ e |
a {"-:i "{Qmmurthmr’. 3%
“')'ﬁ e
(b) 47'5 kg - s _a® i
\ﬁﬁb da"‘d".a @ Powmitnd 7 :
‘\ »
750 kg o
: None of the above can be concluded 709!
with certainty. bA\C
(d) 52-5 kg vo!
2
: \ g nt IR0 g
Yc-p-cLys/71D . anghg N oa S0 A4
ue - 4'/,{:‘; 1
A i

')



51. Awatch loses 2 minutes in every 24 hours
while another watch gains 2 minules in
every 24 hours. At a particular instant,
the two watches showed an identical
time. Which of the following statements
i8 correct if 24-hour clock is followed?

H The two watches show the
1dentical dme again on completion
f# of 30 days.

i) The two watches show the
identical time again on completion
of 90 days.

fe) The two watches show the
identical time again on completion
of 120 days.

{Htme of the above statements is_
%

correct.
¥

52. In a city, 12% of households earn less
than ¥ 30,000 per year, 6% households
earn more than ¥ 2,00,000 per year,
22% households earn more than
# 1,00,000 per year and 990 house-
holds earn between 30,000 and
# 1,00,000 per year. How many

B3, A clock strikes once at 1 oclock, twice at

54,

households earn between ¥ 1,00,000 x goo”

and ¥ 2,00,000 per year? o

(dj 225

MC-D-CLYS/ 71D B E)u A1

2 p'clock and thrice at 3 o'clock, and so
on. If it takes 12 seconds to strike at
5 o'clock, what is the time taken by it 1o
strike at 10 o'clock? N

faj 20 seconds

‘"{ 24 seconds L

(c/ 28 seconds

(d) 30 secconds

Corisider the given statement and the two
conclusinons that follow :

Statement :
Mormning walk is good for health.

Conclusions :

1. All healthy people go for morning

walk.

2 Morning walk is essential for

maintaining good health.

What isfare the valid conclusion/

conclusions?

fa) 1 only
(b} 2 only

f¢) Both 1 and 2

M Neither 1 nor 2

(P.T.O.
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55. There it o i
by nsz:i'l:ﬂ::g ’:‘d"’!lt Cornascutive 58. There are 4 horizontal and 4 vertical
o : 8 is the mean of the lines, parallel and equidistant to one
8t five such sumbera, then what is

; . another on a board. What is the
ey ..w-,}?i._-;ai the thirteen numbers? maximum number of rectangles and

- 4?' squares that can be formed?
Sl fa) 16
oo k] 24
Jﬁ g o Si w‘ 36
() 45 d) 42
: 59, A freight train left Delhi for Mumbai at an
56. Smf bﬂ:‘: A, B, C, D, E and F play a game average speed of 40 km/hr. Two hours
; ;a 8. Each has a pack of 10 c:ap:la. later, an express train left Delhi for
orTows 2 card:s from A and gives Mumbai, following the freight train on a
away 9 m.c who in turn gives 3 to B parallel track at an average speed of
while B gives 6 to D who passes on 60 km /hr. How far from Delhi would the
1 to E. Then the number of cards express train meet the freight train?
possessed by D and E is equal to the
number of cards possessed by (@ 480 km v
A, Band C b 260km YV o '
(a) an _)é Ao W e
240 km :
/ B, Cand F T Nk v
(d) 120 km ol
fe) A, BandF

{d) A Cand F 60. In a test, Randhir obtained more marks

than the total marks obtained by Kunal
end Debu. The total marks obtained by

57. There is a milk sample with 50% water in Kunal and Shankar are mt:;re than r‘r:;:ica
it. If 1/3rd of this milk is added to equal of Randhir. Bnnalﬂuhht:m:b tﬁ; e
unt of pure milk, then water in the than Shankar. Ne i 0
i will fall down to marks than Randhir. Who amongst
il them obtained highest marks?
,M{ 25% ” B s
) 30% # Neha
(c) Sonal
fc) 35%

Ma.ta are inadequate
07 ;;_#D
giG-D-CLYS/71D o\ 0 x5 7
: P 7 £
91’*

(P.T.0.
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Directions for the £, ;

Rcﬂiilthl: following ni:::;‘ht i
the items that follow the ok, s s
answers to these itemsg should e
passages DI]I}' o

-:-ci:..m_tinn of resources. Com
21T i
i pummgﬁﬁm ;:Tul::ﬂs_ would ensue in the form
e viclent conflict. Resource-
C cts have rarely been overt and
rrhuﬂ difficult to isclate. Instead they tﬂkv:a:ri
-(.: a.:jnn:rn that appear more politically hpalatahk.
nﬂi:'.tu__ . over resources like water are often
cloaked in the guise of identity or ideology.

petition over thege

ﬁl.: ""bnt does the above passage imply?

; Resource-based conflicts are
£ 4 ' always politically motivated.
Eoy (b) There are no political solutions to
TiEs resolve environmental and resource-
based conflicts.

*{ Environmental issues contribute
~© &  tp resource stresses and political
conflict.
(d} Political conflict based on identity
or ideology cannot be resolved.

Passage—2

The man who is perpetually hesitating which of
the two things he will do first, will do neither.
The man who resolves, but suffers his
resolution to be changed by the first counter-
suggestion of a friend—who fluctuates from
opinion to opinion and veers from plan tn
plan—can never accomplish anything. He wﬂl
at best be stationary and probably mﬁ‘ugra,:le in
all. It is only the man who first consults msel?,
then resolves firmly and then executes his
burpoge  with  inflexible panc-.rcmn::e.
Undismayed by those petty difficulties which

AMC-D-GLYS/71D

daunt a weaker spirit—that can advance to
tminence in any line.

62. The keynote that seems to be emerging
from the passage is that

f(we should first consult wisely and
then resolve firmly

(b} we should reject suggestions of
friends and remain unchanged

¢/ we should always remain broad-
minded

{d) we should be resolute &and
achievement-oriented

Passage—3

During the summer in the Arctic Ocean, sca ice
has been melting earlier and faster, and the
winter freeze has been coming later. In the last
three decades, the extent of summer ice has
declined by about 30 per cent. The lengthening
period of summer melt threatens to undermine
the whole Arctic food web, atop which stand
polar bears.

63. Which among the following is the most
crucial message conveyed by the
ahove passage?

fa) Climate change has caused Arctic
summer to be short but
temperature to be high.

(b) Polar bears can be shifted to South
Pole to ensure their survival.

(c) Without the presence of polar
bears, the food chains in Arctic
region will disappear.

1‘( Climate change poses a threat to
the survival of polar bears.

o [P.T.0.
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Passage—3

why do people prefer o i

want toilets or, if they h;c:nt::::f :::Iuynu::?;hzx
.pmetimes? Recent research has shewn two

ritical elements : ideas of purity and pellutio
;nd not wanting pits or septic tanks to 1;?1
pecause they have to be emptied. These are the
«sues that nobody wants 1o talk about but if
we w&!11 to eradicate the practice n'f open
;:;;Zar?n, they have to be confronted and dealt

64. Which among the following is the most

cruclal message conveyed by the above
passage?

{a) The ideas of purity and pollution

are so deep-rooted that they cannot
be removed from the minds of the

people.

f{ People have to perceive toilet use
and pit-emptying as clean and not
polluting.

People cannot change their old
~ habits.

People have neither civic sense nor
sense of privacy.

Passage—b5

In the last two decades, the world's gross
domestic product (GDP) has increased by
50 .per cent, whereas inclusive wealth has

by a mere 6 per cent. In recent
decades, GDP-driven economic performance
has only harmed inclusive wealth like human
capital; and natural capital like forests, land

AMC-D-CLYS/71D
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and water. While the world’s human capital
which stands at 57 per cent of total inclusive
wealth grew by only B per cenl, the natural
capital which is 23 per cent of total inclusive
wealth declined by 30 per cent worldwide in the
last two decades.

65. Which of the following is the most

crucial inference from the above
passage?
fa) More emphasis should be laid on

the development of natural capital.

The growth driven by GDP only is
neither desirable nor gustainable.

fc) The economic performance of
the countries of the world is not
satisfactory.

(d) The world needs more human
capital under the present
circumstances.

Passage—b6

By 2020, when the global economy is expected
to run short of 56 million young people, India,
with its youth surplus of 47 million, could
fill the gap. It is in this context that labour
reforms are often cited as the way o unlock
double-digit growth in India. In 2014, India's
labour force was estimated to be about
40 per cent of the population, but 93 per cent
of this force was in unorganized sector. Over
the last decade, the compound annual growth
rate (CAGR) of employment has glowed to
05 per cent, with about 14 million jobs created

[PTO.



. last vyear when the 1
K rig nbﬁm
||.1I-]'|-.:'.1ﬁ-:'d by about 15 million. force PI""“"—B jong
o its S0
There is no harm in cultivating f us arc
which of the following i ; PR ed, =
= rational inference fg 8 the moge as they are not injurious mdc.r_ Take away our
? rom  the apgy, little more than bundle of NaPIS =, e worth
passage: © habits and the residuum would hﬂrt : houtl
ja) India must control its . bothering about. We could net of tife. TheY
growth so as to mpodupulatmn them. They simplify the rnecha_nlﬁrﬂ ' things
unemployment rate. ce its enable us to do & mu‘lzﬂ;diu ve fresh
, automatically, which, if we 12 ould
M]L:{;’i';“:n ;’-:“’;ms are requireq jy 20 original thought to el cach time: ¥
ake optimum use of jig make existence an impossible confusiot:
vast labour foree productive] :
. India i : ¥ 68. The author suggests that hablts
(€ In ia 12 poised to achieve th
dﬂﬂblﬂ—dlgjt g'rgwth VEry soon € fﬂ,l anﬂ to mﬂ.kﬂ pur hives difﬁcu}t
(el Inqlt]adm capable of supplying the () add precision 10 our lives
skille , young IJEQPIE to other .
countries. ](make it easier for us to hive
Passage—T7 (d) tend to mechanize OUT lives
The very first lesson that should be taught to us Directions for the following 2 (tw©°) items :
nd answer the

when we are old enough to understand it, is Consider the given information a
that complele freedom from the obligation to two items that follow.

work 15 snnatural, and ought to be illegal, as No supporters of ‘party %' who knew Z and
we can cscape our share of the burden of supported his campaign strategy, agreed for the

work onh by throwing it on someone else’s alliance with ‘party Y’; but some of them had

shoulders. Nature ordains that the human race friends in ‘party Y ’

shall perish of famine if it stops working, We

rannot escape from this tyranny. The question 69. With reference to the above information,

we have to settle is how much leisure we can which one among the following
statements must be true?

alford 1o allow ourselves.
(@) Some supporters of ‘party Y did

g that not agree for the alliance with the

67. The main idea of the pesseg® 1
q to ‘party X -

ja) it is essential for human being
There is at least one supporter of

work
Y who knew
a ce petween ‘party Some supporters
Wrﬂlere should be balan of ‘party X' as a friend. _

work and leisure

(c) working is & tyranny

to face

{d) human's underss
nature of work is €

which“hm fc) No supporters of ‘party X
supported Z’s campaign strategy.

ratanding ©f the (d) No supporters of ‘party X' knew Z.

| P.T.O.
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Supporters

e , of ar 2
e Pported Z's campaig12u;};eg}rx
of the statementg .

/are not correcty
fa] 1 only

H‘ 3 only

Biven above

cond and fourth Sa
turdays and al
Sundays are taken as only hn!.idaysl
an office, what would be the
.m i nl;::ﬂ number of possible working
avs y month of any year,”
e ‘ﬂL o
"17.._.\‘1; rhj'k

23 C
r & W M
Ly v
’Rﬂ/' 29 ! v W 3 ¥ ’
(0 21 o e
LN .\q_ ¥
fd} 20 £

72. If there is a policy that 1/3rd of a
¢ lpopulation of 2 community has
' migrated every ycar from one place (o

some other place, what is the leftover
population of that community after the
sixth year, if there is 1o further growth
in the population during this period?

(a) 16/243rd part of the population

() 32/243rd part of the population
2

w
Ar—*3

-

fC—D—C;LYSf‘?lD S
vl :
W

43

fcl 3272044 part af the p.npulﬂ.tiﬂl"'

-Jc“"f?iﬁlh part of the T_m-pululin:-n

pathe-
n;]uf:tm]
not

73. Four tests Physics, Chemistry,
matics and Biology are to be ©@
on  four consecutive day®
necessarily in the same order. THE
Physics test is held before the €3t which
is conducted after Biclogy. Chemistry ¥
conducted exactly after tWO tests are
held. Which is the last test held?

{a) Physics

{d) Chemistry

74. The sum of income of A and B is more
than that of C and D taken together.
The sum of income of A and C is the
same as that of Band D taken together.
Moreover, A earns half as much as the
sum of the income of B and D. Whose
income is the highest?

AV
@ A @ﬁ% > C
A"V
W ME
B 7
| :3" &:;%
(c) €
(@) D
| B.T.O.



5. consider the foliowing :

Siatemfnt 7
Good voice igs a natural gift but one has
to keep practising 10 improve and excel
well in the field of music.

conclusiens !
[, Natural

carc.
1. Even though one's voice 13 not

good, one can keep practising.

gifts need nurturing and

0 g from the statement.

different heights.
and C start to
simultaneously.
on X by 6cm
B climbs on ¥
3 cm. 3 1111
slips dowm
requires 4
the pille

1 :
n the light of thias Statement T

one of the ollowing is 1hr1cw i
understanding of rights? i

h:l Ri-g,htn aim at individual good only,

(b} Rl.ghla H.'I.'ITi at social good only,

\ Rights aim at both individual and
social good.

(d} Rights aim at individual good
devoid of social well-being.

78. 15 students failed in a class of 32 After

removing the names of failed students,
a merit order list has been prepared n
which the position of Ramesh is 22nd
from the top. What is his position from
<)

the bottom? :
(@ 18th f,lﬁ
(b) 17th

16th
(d) 15th

79. Consider the following :

A+ B means A is the son of B

4 - B means A is the wife of B
What does the expression P+R-Q
___menn? f?a.wﬂ‘\ €
f{a) Qs the son of P. Qs
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